
Part 1: Pictures
Set A

Set B

Set C

the character

the character

the product

the expanse of water

the related breakfast its common name

the Grand National fence

the building in the background

the tree

the exhibitionist

the card

the artefact

Missing word (the 
longer of  the two 
options)?

The location?

The common 
missing word 
(after the answers 
are correctly 
paired)?

A:

B:

C:

1

1

1

2

2

2

3

3

3

4

4

4

5

5

5

6

6

6

Part 2: Clues Peripheral clues all lead to five-letter answers which, 

when ordered correctly, form a word chain in which 

each is formed by changing one letter of  its predecessor 

(e.g. SCOTS–SPOTS–SPITS–SPINS–SPINE–OPINE). 

The chain links the unclued D and E.

Posh pad’s lost second 
position

Next to piano, they 
hear English tenor Sound of  gun that 

silencer produces?

Pre-prandially, thanks 
cricketer

Actor John doing 
voiceover?

Confront Bishop ahead 
of Listener Dinner's 
starter

Bedroom — one or 
two?

Endures Paddington and 
Paddington 2?Munro and 

Wainwright, say, 
returned one in basket

Good Doctor CandyDog corners a Brit in 
space

Teams should write a normal cryptic clue to the 
famous winner at “the A of B C” (14 letters), whose 
identity is confirmed by D E.

Write your answers and your clue on the separate 
answer sheet provided (one per table).
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